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AEK | 101 |s2101(Bk & & | 1,880 1,740 140 AKX | 201 [52140(%R 0 % - X % ¥ 500 440 60
102 |52102(# E| 2,590 2,120 470 202 |52141| R g W & W dt| 4,420 3,830 590
103 (52103t # & % 4| 3,790 2,840 950 203 |52142y R kK &= 4| 1,760 1, 460 300
104 |52104/F ¢ ® O - b @ 1,950 1,520 430 204 |52143|%EE-08E-F8%| 2,240 1,820 420
105 |s2105|L #& &= & | 3,660 3,010 650 206 |52145/% 4 ¥ 1,370 1,350 20
106 |s2106(% # = m| 2,560 1,910 650 207 |52146|7E 2,260 2,070 190
107 |52107|F % #| 3,100 2,380 720 208 (s2147(E E & # )| 3,670 3,140 530
108 |52108|iE &l 2,270 2,010 260 209 |52148|F PN | 4,280 3,720 560
109 |s2100(lk & # @ Q| 2,430 2,040 390 210 |52149|% PN % 4,130 3,430 700
110 |52110|)l s 2,970 2,340 630 211 |52150|li J mi 3,190 2,680 510
111 |52111 |4 &% 3,680 3,040 640 212 |s2151(88 7 & K | 2,890 2, 300 590
112 |s2112(&BE=a—%9> 4| 4,650 1,430 | 3,220 213 |s2152#8 = B¢ ET| 3,040 2,570 470
113 |s2113)&BE=a—%Y>@E 2,120 500 | 1,620 214 |52153|4t 7 B - 7 & Be| 2, 940 2,150 790
114 |s2114)%BE=a—59 & 2,620 1,220 | 1,400 215 |s2154m £ B % 3,120 970 | 2,150
N it 40,270 | 28,100 | 12,170 217 |52156|Bk & & = 48 4| 1,380 660 720
[:]53 121 |52116| & A # 1,800 550 | 1,250 218 |sis7|EmmEHAE® 1,620 1,130 490
122 |52117|%h 2 # 1,330 570 760 219 |52158|fk & ® = 48 ®| 2,650 1,890 760
123 |[52118|& 1# 970 710 260 N it 45,460 | 35610 | 9,850
N it 4,100 1,830 | 2270
RER | 131 |52119|& #* | 3,130 2,980 150
132 52120\ #* m 2,270 1,960 310
133 |52121|3 3 g 1,980 1, 640 340
N it 1,380 6,580 800
mAH | 141 |52122|% % %| 2,350 1,860 490
142 52123k 2 ® @ B 4| 4,680 3,740 940
143 (52124 g :?_E‘Dﬁé <% ;ﬁlzﬁ; 1,510 1,470 40
144 |s52125\m B 1 & A7 ®| 1,870 1,500 370
145 |52126/®8 % = #| 1,740 1,560 180
146 |521271m % = #| 1,160 1,100 60
147 |52128| & % % &1 3,510 2,630 880
N 16,820 | 13,860 | 2,960
EE=® | 151 [52120|% 2| 2,810 2,540 270
152 |52130(3& J gr| 2,160 1,970 190
153 |52131|& M X # @ 4| 1,590 1,140 450
154 |52132|— X &l 3,350 2,620 730
155 |52133|lk & R M X # ®| 2, 690 1,500 | 1,190
156 |52134i8 En * 2,610 2,570 40
157 |52135)8 v & - ® » K| 1,770 1,600 170
158 |52136| % @ 2,210 1,400 810
159 (52137 R & M =| 2,880 1,950 930
160 |52138|8% 3 * 2,200 1,950 250
N 5t 24,270 | 19,240 | 5,030
KLt | 171 [s2130]M 5 #| 1,590 800 790
N 5t 1,590 800 790
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T e s s m=npy | TROM | SEEN I e s g mngy | TROR | REEY
KRX | 301 |52201|B2 ® 4 M #| 1,570 1,560 10 Fam | 401 |52226(7K Hh ®l 1,770 1,330 440
302 (52202 Wi E #| 2,060 350 | 1,710 402 (52227 [ 3,180 3,130 50
303 |52203|E2 ®) it @ Er| 1,160 400 760 403 |52228|% A & 2,450 760 1,690
304 |52204|/1v = i 690 500 190 404 |5222090 R A& & 3,840 3,360 480
305 |(52205|F H 700 130 570 405 |[52230|% E| 2,850 2,270 580
306 |[522060x = [ i 2,960 2,290 670 406 |[522311= = F @ 1,760 1,620 140
307 |[52207|E2 A B % 3,090 2,610 480 407 |[52232)= = F ®| 2,880 2,190 690
311 |[52208| MR X R % % 2,500 1,590 910 408 |[52233|F% & B ® 900 790 110
312 |52200(% & @ | 1,530 870 660 409 |52234|#8 B - % & 1,900 410 1,490
313 |52210(41 H 1,290 840 450 410 |[52235|dt N &l 2,780 2,630 150
314 ([s52211E8 #% K R 4| 3,380 2,060 | 1,320 411 |[52236|/ I 7| 3,650 3,590 60
315 |52212|8% J & 2,630 2,050 580 412 (522373 #% M &= ®| 3,130 2,470 660
316 |52213|k % & 4,530 4,070 460 413 |[52238|% x| 2,800 2,710 90
317 |[s221488 /& 48| 2,730 1,970 760 414 |52239|F A Hl 2,780 1,790 990
318 |[52215\h z & 2,290 1,180 | 1,110 415 |[52240| % A ® 1,160 1,130 30
319 |[52216|k F & 3,370 1,790 | 1,580 416 |[52241|/ 4 Br| 2,820 2,620 200
320 (52217]d R # | 1,610 1,160 450 417 |[52242ld R F & | 1,380 700 680
321 |52218(# 1] gr| 1,140 670 470 418 (52243l R F A& | 2,280 1,590 690
322 (522198 W ® O F| 3,140 1,710 | 1,430 419 2B B L - B A 1,990 1,990 0
323 |[52220|@ 5 & 2,290 1,840 450 420 (52245 & B ET| 3,930 3,520 410
324 |(52221|@ 5 ® 1,770 1,570 200 421 |[52246|/k % Br| 4,360 3,770 590
325 [s22mB=a2—%4"> 4,010 680 3,330 /N Hi 54,590 | 44,370 | 10,220
327 |52224|#h 1,290 850 440 Wis™ | 431 [52247)3& &% A & )| 2,460 1,990 470
328 (52225 P 1,990 1,340 650 432 [52248|& # 2,630 2,580 50
I it 53,720 | 34,080 | 19,640 433 |52249|F H 5 8@ 3,040 2,730 310
434 |[s22503& &% ¥ B =®| 1,970 1,710 260
435 (52251 B H  #| 3,560 3, 450 110
436 (52252l R W 13| 4,630 4,380 250
437 |[52253)E &% F B H 870 870 0
438 |[52254/y R K it 760 720 40
N Hi 19, 920 18, 430 1,490
aglEr| 451 [s2ess(m & @ w| 750 540 210
N Hi 750 540 210
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K | Jr—FMe|wma-k iz % EhnR | Lanm | RaEm B | Fr—e|unar Hhigi 2 mamy | TEE% | So8H
El45S 501 |52301|7 = | 2,590 2,180 410 THRE | 621 |52352|F + %l 3,450 2,530 920
502 |(52302|f§ %| 2,520 2,140 380 622 (52353t % W FF / W] 1,310 860 450
503 |52303|k & F 860 800 60 623 |[52354|H3 N #%| 2,040 1,560 480
504 |52304|% Sl x| 2,480 2,190 290 624 (52355 A FE  F| 3,100 2,290 810
505 |52305|% # k| 2,140 2,010 130 625 |[52356|m & 3 )il FE| 3,230 2,010 1,220
506 [szsoslx & ®| 1,400 | 1,310 % 626 |s2357F LA BT 1,770 | 1m0 [ 190
507 |52307|dt | 4,580 4,320 260 627 |52358|m £ & h @ E| 2,100 1,320 780
508 |52308|% %l 3,370 3,320 50 N H 17,000 | 12,150 | 4,850
509 |52300|M A 2,490 2,100 390 IR | 641 |523607? i % 1,870 1,870 0
510 |52310| z % 1,420 1,350 70 N it 1,870 1,870 0
511 |sestilt B % @& 870 750 120 FX | 651 [52361H B K B8\ & 930 480 450
512 |s2312lk & & ®| 1,480 1,350 130 652 |[52362(8® T K B A %&| 2,640 1,630 | 1,010
I &t 26,200 | 23,820 | 2, 380 653 |[52363F # B2 A K| 1,350 490 860
ERE | 521 |52313|% b=} & 1,510 1,250 260 654 |52364|FF # 1,290 1,030 260
522 (523142 & £ & 1,990 1,860 130 655 |[52365|E & + £ 4t #&| 1,980 1,810 170
523 |52315/E = | 1,600 1,290 310 657 |52366(5 #F 1,560 1,480 80
524 |s23t6ts 4 5 4t 570 540 30 658 |[52367|F b % 2,480 1,680 800
525 |52317|F Be it 110 740 30 659 |52368jw # ER @ 1,570 1,270 300
526 |52318|F s M 3,400 3,210 190 660 |[52369(: a1 % @l 1,490 1,100 390
527 (5231904 &~ W5 860 780 80 I it 15,290 | 10,970 | 4,320
528 |52320|1& ® Bl 1,840 1,660 180 WHEE | 702 [52371|B 2 @ - # K| 1,840 1,680 160
529 |(52321|— E3 * 3,710 2,940 770 703 |s52372ly R W ® & 1,190 810 380
530 |[52322|& b1 &l 2,260 1,010 1,250 705 |52374|m /s = - %= %| 1,030 760 270
531 |52323& % Ml 1,460 1,010 450 707 |52375[/1 W 770 730 40
532 |52324[dt B mp 1,360 1,180 180 708 |523764t 1t w| 1,550 1,410 140
533 (523251 #% W — & 1,290 1,050 240 709 |52377|# % 4,100 2,050 | 2,050
534 |52326|% & Bl 1,280 1,100 180 710 |52378|% B 3,910 2,650 | 1,260
535 |52327|% H i 0 0 0 711 (52379l B - & % | 3,110 2,720 390
536 |52328)Il % = % 710 480 230 712 |52380|F % m 2,420 2,220 200
I &t 24,610 | 20,100 | 4,510 713 |52381|#1 it 2,250 940 | 1,310
ERX | 541 (523200t B X % =W 1,560 1,560 0 714 |52382|% % 3,850 3, 250 600
542 |52330|1= # 2,020 1,940 80 715 |52383|K £l 3,670 2,590 | 1,080
543 |52331|F 2z ml 2,950 2, 400 550 716 |52384|% i % 1,850 1, 400 450
544 |(52332)% B * K| 2,050 1,620 430 717 |52385|#) & % 1,610 1,080 530
545 |52333|F & i I 3E| 2, 460 2,010 450 718 |52386(/ % 410 260 150
546 |52334(H K| 1,530 1,430 100 I B 33,560 | 24,550 | 9,010
547 |s233s(d8 B ¥ & 1,670 1,460 210
548 |52336|m # R | 2,460 1,870 590
549 (5233748 E ¥ - % # O 1,580 1,450 130
551 |52330|= & 4 4| 2,140 1,570 570
N &t 20,420 | 17,310 | 3,110
HRE | 601 |[52340(7 J =| 3,550 2,340 | 1,210
602 |52341|% # 2,900 2,770 130
603 (523420 R = % ER| 1,890 1,390 500
604 |52343|F 3 il 2,130 1,550 580
605 |52344|F =3 M 2,400 2,320 80
606 (52345 = % #| 1,560 1,380 180
607 |52346/m £ K = | 2, 560 1,930 630
608 |52347|F =3 # 1,030 740 290
609 |[52348|% A 1 i 4t & 1,170 750 420
610 |52340/mm & & & 4 @& 2,780 1,110 | 1,670
611 |52350(8 s # i 4t =|| 2,290 1,230 | 1,060
612 |52351/m & & & 4 ®=| 1,350 360 990
N &t 25,610 | 17,870 | 7,740




